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1. wo o wpgsoe vhsem L s,

(1) y =22+ 6z + 12 (2) y=2%—-8z+11
(3) y=a2?+8z+15 (4) y =22 — 10z + 29
(5) y=a> -2z +3 (6) y=a%+8x+11
(7) y=2% -8z +21 ) y=22+22—-1

9) y=2>—4z+5 (10) y = 2% + 10z + 28

— 13th-note —
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(1) y=a22—z+5 (2) y=a2?+2z-1
(3) y=2a% -3z +4 (4) y=a>+2z +4
(5) y=2%+4z +4 6) y=2>—-3z+1
() y=2*>—-5z -5 8) y=2*+3z-5
(9) y=a2>+52+3 (10) y = 2> +5x + 4

— 13th-note —
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3. o> 2 BIE R T LA S,

(1) y=2>—-2z (2) y=2%—-22—-10

(3) y=—22%+ 162 + 8 (4) y = 52> — 40x + 4
(5) y = —322 4+ 122 + 6 (6) y = =522 4+ 30z — 10
(7) y=—bz? — 10z — 4 (8) y =1x? — 6z

(9) y=—42? -8z —1 (10) y = —a* — 2z — 6

— 13th-note —
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4. o2 witor v osem Lis S,

(1) y=—222+32+9 (2) y =42* + 6z — 8
(3) y = —42% — 8z — 10 (4) y=—2?—-10z -6
(5) y=32z% -5z —3 (6) y=a>+2z+3
(7) y = —42? + 62 +3 (8) y=—bz?—bx -7
(9) y=222>-2-10 (10) y =222 — 10z — 5

— 13th-note —
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5. ko 2w T L S,

(l)y:%mz-l-%x-l-% (2)y:%m2+%x

(3) y= %12—1—334—% (4)y:—%x2—%x——
(5)92—%952-1-%90 (G)y:xz-i-%ac-l-%
(7)y:%x2—2x+% (8)y:—%x2+%x+2
@)y:§w2—w+2 (w)y:—%wZ—x+1

— 13th-note —
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1. wo o wpgsoe vhsem L s,

(1) y = 2> + 6z + 12

y=(zx+3)°+3

(3) y=a*+8z+15

y=(z+4)* -1

(5) y=a?—-22+3

y=(z—-1)*+2

(7) y=2% -8z +21

y=(x—4)°+5

9) y=2%—4z+5

y=(z—-2)%+1

(2) y=2?—-8z+11

y=(x—-4)—-5

(4) y = 2% — 10x + 29

y=(z—5)"+4

6) y=a?+8x+11

y=(x+4)* -5

8) y=a%+2z—1

y=(z+1)* -2

(10) y = 2% + 10x + 28

y=(z+5°+3

— 13th-note —
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RO 2 RBEEE VT8 L7 S0,

(3) y=2a% -3z +4

2
(s-3) 4T
v=(=-3) +4

(5) y=a?+4x +4

y = (z+2)°

(9) y=2?+5z+3

2
y=(s+3) -1

~ EA5ERK 0105-1 —

(2) y=a%+22—1

y=(z+1)° -2

(4) y=a2?+2x+4

y=(x+1)°+3

6) y=2%—-3z+1

2
_(._3\_5s
Y 2 1
8) y=2?>+3z -5
(10) y = 2® 4+ 5z +4

2
_ 5\ _9
y_<w+2> 4

— 13th-note —



(1) y=2a%—-2z

y=(z—-1)°-1

(3) y = —22% 4+ 162 + 8

y=—2(x—4)°+40

(5) y=—322+ 122+ 6

y=—3(x—2)°+18

(7) y=—5z?— 10z — 4

y=—5(x+1)*+1

(9) y=—42> -8z —1

y=—-4(x+1)°+3
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(2) y=22—-22-10

y=(x—1)*—11

(4) y = 52> — 40x + 4

y=>5(x—4)° —176

(6) y = —5z% + 30x — 10

y=—5(x—3)°+35

(8) y=a% — 62

y=(z—3)" -9

(10) y = —2% — 22— 6

— 13th-note —
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(1) y=—22%>+32+9

2

3 81

= 2z = o2
Y (az 4) +

(3) y = —42% — 8z — 10

y=—4(x+1)°—-6

(5) y=3x> -5z —3

2
5 61
:3 -_— -_—
Y (“" 6) 12

(7) y=—42® + 62+ 3

2
3 21
— 4 (-2 L
Y (:13 4) +

(9) y=222>-2-10

2
1 81
—2(x— =) = 2=
Yy (“" 4) 8

(2) y=42> + 62 — 8

2
3 41
— 4 2 ) - 2=
Yy <w+4> 4

(4) y=—22—-10z — 6

y=—(x+5)*+19

(6) y=a>+22+3

y=(z+1)"+2

(10) y =222 — 10z — 5

2
5 35
:2 -_— -_
Y (m 2) 2

— 13th-note —
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2 9 4 5
1) y=<a2+ o4+ 2
(1) y 3m+3x+2

_2 2, 11
y=3@+1)"+

2 2
2 2

5 3 15 1

= —— |\ — — —_— — -

Y 3< 4) * 16 Y w+3)

_ 2 92 4 3.2, 7
(7)y—3:c 2:E—|—3 . (8) y = 5T +3a:—|—2
y=2(z-3) -1 _ 3 (._T
3 2 6 YT 9
(9)y:%x2—m—|—2 (10)y:—%x2—aj+1

2

_2(._3 13 __1 3
y‘3( 4>+8 YT 3<w+2
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_ 1 o, 7
(2)y—3m +3x .
_ 1 7
Y73 (‘H 2)
(4) y__%,,;z_%z_

__3
Y= 4<w+

— 13th-note —



